+5F +2Z =10 A +50Y #3EF =190 X =5 +20% =13

2o+ o+ F =11 E:} X #32¥ +1E =112 l::} —-1BY 18 = -5E
E +27 +3F7 =11 X o+ M + 7 =11 173y +43F =143
| Stap 1; divide aguation 1 by 3, Slep 7 subitract equation 1 fram
Crigina aquation 2 by 2 aquation 7 and equation 3
X +EAY +pEF =193 X O+EAY 4L =16

Y % T = B8 ¥ + £ = B
E:} Yo +dZ =14 E:} # 32 = B

Stop 3: divida equalion 2 by =158 Slep A4: sublrac equsdion 2 from
and-equation 3 by 13 aquation3
X #5323 =163 X +50Y +2NZ =193
5 Y« Z= 5 Oy ¥ = 2
I = 3 I = 1
Ehap 5 - divida @quation 3 by 3 Hep i substilule £ salulioninta
Solulicrlar Z! ) ualian 2. Salition fior Y1
X =
= ¥ = 2
I = 3

Slap T subsliluls Y and £ nlo
pqualicn 1. Soluicn for X!



